1800
1600 |
1400 [

1200
1000
800
600
400
200

0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

1400

1200

1000

f\‘\\\\‘\\\\‘ﬂ\\\

800

600

400

200

-1 0 1
Entrance x

2

11D ‘ T
--{-Entries ... Lo--.164338 .. .ioo
! Mean 10.5432E-02
| RMS 0.7167

-1 0 1
Entrance x (success)

2
Efficiency

\‘\\\\‘\\\\‘\1\\\

-1 0 1
Entrance x (success)

2



D) 122
ol Entries 64338
Mean

:0.3960E-02

RMS ‘ G825
,,,,, 0

0.000

OVFLW

1 0

1

Entrancey (success)

2250 §

2000 [ ; 1400 |
1750 | 0 1200 [
- OVFLW 0.000 B
1500 ? ,,,,,,,,,,,,,,, AL,L,CHAN,,iQ-lOQQE,QG,,,,L ,,,,,,,,,,,,,, 1000 } 7777777777777
1250 | g

1000 [ B
B 600 [
750 || s
BOO || 400
250 | 200
O E\ | 1| ‘ I I ‘ I ‘ I N O 7\ [
-2 -1 0 1 2 -2 -
Entrancey
- D 152
0.7 - *L Entries 438 o
0.6 [ SOOI
o5 |
o4
03 ||
02 Frrnfrrmmsns o
B e T
:\ | | | ‘ | | | | ‘ | | | | ‘ | | | |
-2 -1 0 1 2
Entrancey (success)  Efficiency




x10 _

10000

8000

6000

4000

2000

0.7

0.6

0.5

0.4

0.3

0.2

0.1

o

o i 70000
. _Entries.____. L ..100000 i
- I rwe [bzseicos 60000
} UDFLW 0.000
S T o 50000
I SR | BN SRR 40000
i 30000
= 20000
f ””””””””””””””””””””””””””””””””” 10000
i | | | | ‘ | | | | | | | | ‘ | | | | O
0 1 2 3 4
Entrancez
- 71D 153
- " | Entries 164338
I Mean || - 200 .,
- RMS D.1534E-05
B UDFLW 0.000
I OVFLW || 0000 .
B ALLCHAN 0.6434
: | | | | ‘ | | | | | | | | ‘ | | | |
0 1 2 3 4
Entrance z (success) Efficiency

- D) 123

B .| Entries 64338
S Mean || 2010 .
u RMS 0.1629E-05

C UDFLW 0.000
S OVFLW )| 0000 .
- | ALLCHAN [0.6434E+05

| ‘ I I I ‘ I |
0 1 2 3

Entrance z (success)

4



350

300

250

200

150

100

50

225
200
175
150
125
100
75
50
25

- ID } 104
- : Entries 100000
,,,,,,,,,, e Medn k- L DR3
I'm ; =T ‘ltr
i : Iyl ai
I ii ' lll.l }
,,,,,,,,, Ll e g YL NoX0'o's LI I S

ALLCHAN 0.1000E+06

-100 0 100
Entrance phi

ID ; 304

-100 0 100
Exit phi (success)

7000
6000
5000
4000
3000
2000
1000

2500

2000

1500

1000

500

- [
I - Entries - .-

Mean
RMS

OVFLW
ALLCHAN

40 60 80
Entrancetheta

Exit thet

0 20 40 60 80

a (success)




0O 5 10 15 20 25 30 35 40
2

-2 -1 0 1 2
Entrancey vsx (success)

-2 -1 0 1 2
Entrancey vsx (success) Efficiency



0 250 500 75010001250150017502000 0 200 400 600 800 1000 1200 1400

2 2
15 15
1 1
05 05
0 0
0.5 05
-1 1
15 15
2 20 1 2 3 4

Entrancey vs z (success)

0 1 2 3 4
Entrancey vsz (success) Efficiency



0 200 400 600 8001000.20a1400L600 0O 200 400 600 800 1000 1200

2 2
15 15
1 1
05 05
0 0
0.5 0.5
-1 1
15 15
2 20 1 2 3 4

Entr ance x vs zésuccas)

0 100 250

0
0 1 2 3 4 0 10 20 30 40 50
Entrance x vsz (success) EfficiencyEXit theta vs entrance theta(success)



2500

2000

1500

1000

500

0

20000
17500
15000
12500
10000
7500
5000
2500

ID ! 201
| Entries : 35662,
Mlean 10.1219E-04
I RMS Lo oesel o
yorFLw 0.00d
gyFLW : 0.00p)
B AlLCHAN 0.3566E+0p
[ JJ\HKJ" L1 | ‘ I ‘ [ |
-2 -1 0 1

Exit x (failure)

2

o s
: ‘Entries : 35662 !
o ‘Mean : 519 ;
- ARMS -+ FeeB730 s
- UDFLW ! 0.000 : :
R | D OVFLW 1 0000 : . . . .
B } 'ALLCHAN 0.3566E+05
| ‘ | ‘JAL‘ J—J'rl: I | ‘ L 11 | ‘ |
0 5 10 15 20

Exit z (failure)

1800
1600
1400
1200
1000
800
600
400
200

7000
6000
5000
4000
3000
2000
1000

0
8.5

Y 10.1270E-

| 0553
""""""" FIURFLW P 0.0
' | OfFLW 0.0

,,,,,,,,,,,,, | .ALLCHAN. . 0.3566E+

-2

-1 0 1
Exity (failure)

2

| UDFLW  0.2273E+05
" | OVFLW : 0.000 :
| ALLCHAN 0.1293E+05 ..

\\\\i\\\\J\\LLL

9 9.5

10

Exit z fine (failure)



2250
2000
1750
1500
1250
1000
750
500
250

70000
60000
50000
40000
30000
20000

10000

o

C TS P BL

- " | Entries ; 64338 :

S Meafjf LT ™ Olmeddk-02

- RM }

- UDFLW

= OYFLW o o

- ALLCHAN 10.6434E+0p

:\ [ ‘ [ ‘ I | ‘ I |

-2 -1 0 1 2
Exit x (success)

- ID ; 233

- Entries } 64338

I Mean Lﬂﬁjgm ,,,,,,,,,,,,,,,,,,,

- RMS 1q|5032€-05

- UDFLW 0.000

R OVFLW |l 0000 _:

- ALLCHAN 0lp434E+05

[ | | | ‘ | | | | ‘ | | | | ‘ | | | |

8 9 10 11 12

Exit z (success)

2250
2000
1750
1500
1250
1000
750
500
250

""""""" Entries 64338
M |
,,,,,,,,,,,,,, -
' uDRLw ¢
rrrrrrrrrrrrr FCOVFEW -t 0

CHAN 0.6434E+0p

0
Exit theta vs entrance theta(success)

s0 =96y ¢

10

0

150

20 30

SUCCESS

%00 250

40

50



0O 10 20 30 40 50 60 70 80 0O 200 400 600 800 1000
2

-2 -1 0 1 2 0 5 10 15 20

Exitglvsx(failur%% Exit y vsz (failure
0 200 400 600 "800 1000 1200 0 10 20 30 40 60 70 80 90

0 5 10 15 20 -2 -1 0 1 2
Exit x vsz (failure) Exit y vsx (success)



12
115
11
10.5
10
9.5
9
8.5
8

2
15
1
05
0
-0.5
-1
-1.5

-2
-2 -1 0 1

Exit x vs Entrance x (succag)
0 200 400 600 800 1000 1200

2

12
115
11
105
10
9.5
9
85
8

-2

-1
Exit z vs Entrance x (success)

0 1 2

O 10 20 30 40 50 60 70

-2 -1 0 1 2

Exit x vs Entrance {éowcces
0 200 400 600 800 <1000 1200 1400

-2

-1
Exit zvs Entrancey (success)

0 1 2



